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5 Simplify 5 x 41— 20 x 8

4 Show that

16 Solve the equation 4* + 2 = 3 x 2
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Exercise 5C

1 A house bought for €250000 in 1990 was sold for €450 000 in
2010. What was the annual rate of appreciation of the house?
Give your answer to the nearest percent. Interestand

population growth.

See Chapter 1 for
more on compound

2 Tensions in the Middle East cause oil prices to rise. The table
shows the cost price for a barrel of oil at various points in time.

December 1999 | $17.48
December 2006 | $61.08
December 2010 | $77.45
February 2010 | $72.99
February 2011 | $97.87

a What was the annual average percentage rise in oil price between
1999 and 20067

b What was the annual average percentage rise between 2006 and 20107

c Calculate the average percentage rise per month between February
2010 and February 2011.
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3 Samira invests $1000 at Better Bank which offers 8% interest
compounded quarterly. Her brother Hemanth invests $500 at Good
Bank which offers 8% interest compounded annually and another
$500 at Superior Bank which offers 8.4% interest compounded
< monthly. Calculate the value of each investment after 15 years
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4 Giuseppe borrows €15000 to buy a new car. The bank
charges 5% interest compounded yearly. Giuseppe agrees to
pay two-thirds of the amount owing at the end of each year.
How much would Giuseppe have paid back at the end of
5 years?
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Exercise 5D
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The diagram shows graphs of exponential ”
functions of the form y = a*. For each
of the functions, find the value of a.

(1.25)

32 a9 3x
Given that f(x) = 2*, show that f(x + 1) = 2 (x)
Express f(x + a) in terms of £ (x).

Sketch the graphs of f(x) = 2*and g(x) = 2 on the same set of
axes. Hence, sketch the graph of /(x) = 21"/ on a separate diagram.

Solve the equation e* + 1 = e*'!.

Find the geometric transformations of the graph of £(x) = e*
which give these functions,

a y=e~ b y=-e" c y=-e~

Hence, sketch all the functions on the same set of axes.





